ZEPRO

Z-LYFTEN PRODUKTION AB

55438

MONTERINGSANVISNING
INSTALLATION INSTRUCTIONS

Monteringssats / Mounting kit 53646
Ford 260, 300, 330, 350 and 2000

(Extension)
2007-06-12
Forsaljning/Sales/Verkauf Fabrik/Factory/Fabrik
Mossvagen 8, 641 49 KATRINEHOLM,SWEDEN Allévagen 4, 840 73 BISPGARDEN, SWEDEN
Telephone: +46 150 - 489550 Telephone: +46 696 - 17200
Telefax: +46 150 - 489551 Telefax: +46 696 - 17244
E-mail: zepro@zepro.com E-mail: info@zepro.com

Internet: WWW.Zepro.com






Monteringsanvisning / Installation instruction

Art. no 53646
ingadende detaljer / included parts

Pos. Bendmning Description Antal/Qty | Art. nr.
1. Ramfaste H/V Bracket R/L 2 53729
2. | Skruv M12x100 Screw M12x100 8 21597
3. | Distansror Spacer 4 51831
4. Skruv M14x100 Screw M14x100 4 22116
5. | Platta Plate 2 51830
6. | Bricka Washer 4 53863
7. | Mutter M14 Nut M14 4 21484
8. | Platta Plate 2 51829
9. |Ramforst, Hjapram, va | Reinforcement, sub 1 52987

frame, left
10. | Ramférst, Hjdlpram, H | Reinforeement, sub 1 52986
frame, right
11. | Skruv M10x30 Screw M10x30 14 21977
12. [ Mutter M10 Nut M10 14 20170
13. | Bricka Washer 14 20184
14. | Mutter M12 Nut M12 8 21980
17 | Distansror Spacer 8 53286




Monteringsanvisning / Installation instruction

1) Montera ramféaste for monteringssats pa lastbil-
schassi i befintliga hal. Anvand 4 st. M12x100 (90
Nm) samt 1 st. forstarkningsplat.

1) Install bracket for mounting kit on truckframe in
available holes. Use 4 pcs. M12x100 (90 Nm) and 1
pce. reinforcement plate.

1.1) Borra hal i bilramens forlangning. Anvand 2st.
M14x100 (50 Nm), mutter, bricka samt en distans.

1.1) Drill a hole into truckframes extension. Use
2 pce. M14x100 (50 Nm), nut , washer and a spacer.

2. Vid behov kan en stédplat* monteras for att for-
starka upp hjalpram. Anvand 7st. M10x30 (50 Nm).

2. In some cases a support plate* can be installed
to strengthen the subframe. Use 7 pcs. M10x30 (50
Nm).

3. Montera lyft enligt ordinarie anvisning
(se kapitel 5).

3. Install tail-lift according to the ordinary installation
instructions. (see chapter 5).

OBS! Vid montering av lyft pa lastbilar med korta
o6verhang ar det nddvandigt att géra urskarningar i
bakkant av chassi (se kapitel 16.2 i ordinarie monte-
ringsanvisning).

NB! When installing tail-lift on trucks with short over-
hang it is necessary to make cut-outs for the liftarm
on the back of the truckframe (see chapter 16.2 in
ordinary installation instruction).




